[ Efficiency vs vertpos |
- 0.2

Q0.18F -+ vereesieee e SRR
e F : :

U e o
Q -
$0.14F
Q o
£0.12f . :
()| IR RO -
0.08
0.0 -++-e-sesieeses

-
+

10 0?
TP vertr (cr%)

—a— DUIVIST

—_— B Mg%ea ‘TT‘ck P|
Efficiend —.—B Mste % ; 1 efs2

— st

ep3™ TT‘_ NEWTOLDSAMPLE-relf2
~n 0.2

20.18
(2] n
>0.16F
>

LC) I
014
o L
£0.12F
(]

0.1
0.08
0.06
0.04
0.02

0
1.2

!
0.8
0.6

Ratio

|
w
o

|
N
o

30
TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 0.1
>
a 0.09
IS
7 0.08
£0.07
z
c0.06
@
o
£0.05
5}
0.04
0.03
0.02

0.0

.........

1.2

Ratio

S T T S R TO R TR
Sim. PV z (cm)



	Contents
	Page 1


